	

	[image: image1.png]Deer find a good grazing
spot in the forest

They browse freely.





[image: image2.png]The deer flourish.
Now there are lots of deer
in this grazing spot.





[image: image3.png]There are now
too many deer for the
‘feeding area. There are not

‘enough juicy seediings for
all those deer, Deer leave
the area to find more
juicy seedlings.
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	[image: image9.png]Lots of juicy seedlings
grow. Not many bitter

plants grow.
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[image: image11.png]As deer numbers
go down, more seed-
lings regrow in the area.
‘They successfully compete

with bitter plants.
Fewer bitter plants grow
in this area,
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